UNIVERSITY OF LEIPZIG INSTITUTE FOR THEORETICAL PHYSICS Department: Theory of Elementary Particles

Department: Theory of Elementary Particles

TP3 2017

Lecturer: PD Dr. A. Schiller

List of problems 13 (Voluntary to get additional points)

- 38. (a) Find the magnitude of the momentum p of a relativistic particle of mass m as function of its kinetic energy T.
 - (b) A particle of mass m has the energy E. Determine its velocity v. Consider the non-relativistic and the extreme relativistic limits.
 - (c) Under the condition $v \ll c$ find approximate expressions for the kinetic energy T of a particle of mass m, expressed via its velocity v or momentum p to accuracy of v^4/c^4 or $p^4/(m^4c^4)$, respectively.
- 39. Show that the annihilation of an electron-positron pair under emission of one real photon (mass zero) is forbidden by energy-momentum conservation, the emission of two photons is allowed.
- 40. A 4-vector is called timelike/spacelike if its invariant length squared (scalar product) is larger/smaller than zero in arbitrary inertial frames. Show that the acceleration 4-vector defined as

$$(W^0, \mathbf{W}) = (\frac{dU^0}{d\tau}, \frac{d\mathbf{U}}{d\tau})$$

and expressed via the 3-velocity vector ${\bf u}$ and its derivative (3-acceleration vector) ${\bf a}=\dot{{\bf u}}\equiv\frac{d{\bf u}}{dt}$ is spacelike. Here τ is the proper time and $U^{\alpha}=(U^0,{\bf U})$ is the contravariant 4-velocity vector.

(a)
$$T = mc^2 (y_n - 1)$$
 (1) $y_n = (1 - \frac{u^2}{c^2})^{-1/2}$ (2) $F = y_n m \bar{u}$ (3)

from (2)
$$\frac{1}{x^2} = 1 - \frac{u^2}{c^2} \Rightarrow \frac{u^2}{c^2} = 1 - \frac{1}{x^2}$$

$$\frac{u^2}{c^2} = 1 - \frac{(mc^2)^2}{(T + mc^2)^2} = \frac{[T + mc^2]^2 - [mc^2]^2}{[T + mc^2]^2} = \frac{T(T + 2mc^2)}{(T + mc^2)^2}$$

from (3)
$$\overline{u}^2 = \frac{\overline{p}^2}{\chi_u^2 m^2} \qquad \frac{\overline{u}^2}{c^2} = \frac{\overline{p}^2}{c^2 m^2 \gamma_u^2}$$

$$= \frac{1}{c^2} = m^2 y_u^2 \frac{\overline{u}^2}{c^2} = m^2 \frac{[T + mc^2]^2}{(mc^2)^2} \frac{T(T + 2mc^2)}{[T + mc^2]^2}$$

(b)
$$p = \left(\frac{E}{c}, \overline{p}\right) = m \sqrt{u} \left(c, \overline{u}\right)$$

$$p \cdot p = p_0^2 - \overline{p}^2 = \frac{E^2}{c^2} - \overline{p}^2 = m^2 c^2$$

$$\Rightarrow \overline{p}^2 = \frac{E^2}{c^2} - m^2 c^2$$

$$\overline{p} = \sqrt{m v}$$

$$\frac{\overline{u}^2}{c^2} = \frac{\overline{p}^2}{c^2} \frac{1}{m^2 y_u^2} = \frac{\overline{p}^2}{\overline{\epsilon}^2 m^2} \left(1 - \frac{\overline{u}^2}{\overline{\epsilon}^2} \right)$$

$$\frac{\overline{a}^2}{c^2}\left(1+\frac{\overline{b}^2}{c^2m^2}\right) = \frac{\overline{b}^2}{c^2m^2}$$

$$\frac{\overline{a}^2}{\overline{b}^2+c^2m^2}$$

$$\frac{u^2}{c^2} = \frac{E^2}{e^2} - \frac{mc^2}{E^2/2} = 1 - \left(\frac{mc^2}{E}\right)^2$$

extrem relations limit Eo << E sm 1- 2 = 2 Nonvelation be limit T << Eo E = m Ti2+ mc2 = T+ mc2 = T+Eo $\int_{0}^{\infty} \approx |1-|\frac{E_{o}}{|T+E_{o}|^{2}}|^{2} = |\frac{T^{2}+2T}{|T+E_{o}|^{2}}|^{2} \approx |\frac{2T}{|T+E_{o}|^{2}}|^{2}$ check p= 12 = 27 -> T= 2112 (c) T=mc2 (1-u2) 1/2 - 1) expansive (1-x)-1/2 1+ 2 x + 3 x2 = 1 = mc2 (= m2 + 3 = mu2 + 3 m m + m = 1 m m = + m m = + m m = + $\overline{u}^2 = \frac{\overline{p}^2}{m^2 \chi_0^2} = \frac{\overline{p}^2}{m^2} \left(1 - \frac{\overline{u}^2}{c^2} \right)$ =) [1 (1+ pr)= pc 12 = 102 1 = 102 (1 - 102 / + 1...) famer-T = & m = (1- 12ct) + 3 m = 1 = + ... $T = \frac{\overline{p}^2}{2m} - \frac{1}{8} \frac{\overline{p}^4}{m^3 c^2} + \dots$

e+100 1X

4-momentum conservation

choose c=1 (for simplicity)

photon messlen

Pe= Me2 Pf2=0

2me + 2 Pet Pe- = 0

=) Pe+ Pe-=-Me² < 0 (1) = all court. Frames

Use 2005 frame (e- at rest)

(2) in hontradiction to (1)

=) Une matically a decay an quartilation of

ete into real y (mass=0) is not allowed.

met + Eet me = Exten - Parl Parl as & =) me (me + Ee+) = Fyn Fyn (1-400) Egn Egn

o: ande of 82 will repeat to the Pop

loudishin can be seitestied be certain

energie of the prohabs =) emission of 28 Wireconsticulty affected

$$\begin{aligned} & \bigvee_{n=1}^{\infty} \left(\int_{a}^{n} \left(\frac{1}{a} \right) \left(\frac{1}{a} \right) \right) & \int_{a=1}^{\infty} \left(\frac{1}{a} \right) \left(\frac{1}{a} \right) \right) \\ & \bigvee_{n=1}^{\infty} \frac{a!}{a!} = \left(\frac{1}{a!} \left(\frac{1}{a} \right) \right) & \int_{a=1}^{\infty} \left(\frac{1}{a!} \right) \left(\frac{1}{a!} \right) \right) \\ & \bigwedge_{n=1}^{\infty} \frac{a!}{a!} = \left(\frac{1}{a!} \left(\frac{1}{a!} \right) \right) & \int_{a=1}^{\infty} \left(\frac{1}{a!} \left(\frac{1}{a!} \right) \right) \\ & \bigvee_{n=1}^{\infty} \frac{a!}{a!} & \int_{a=1}^{\infty} \frac{a!}{a!} \left(\frac{1}{a!} \left(\frac{1}{a!} \right) \right) \\ & \bigvee_{n=1}^{\infty} \frac{a!}{a!} & \int_{a=1}^{\infty} \frac{a!}{a!} \left(\frac{1}{a!} \left(\frac{1}{a!} \right) \right) \\ & = \int_{a}^{\infty} \left(\frac{1}{a!} \left(\frac{1}{a!} \right) \left(\frac{1}{a!} \right) \left(\frac{1}{a!} \right) \left(\frac{1}{a!} \left(\frac{1}{a!} \right) \right) \right) \\ & = \int_{a}^{\infty} \left(\frac{1}{a!} \left(\frac{1}{a!} \left(\frac{1}{a!} \right) \right) + \left(A - \frac{1}{a!} \right) \right) \\ & = \int_{a}^{\infty} \left(\frac{1}{a!} \left(\frac{1}{a!} \left(\frac{1}{a!} \right) \right) + \left(A - \frac{1}{a!} \right) \right) \\ & = \int_{a}^{\infty} \left(\frac{1}{a!} \left(\frac{1}{a!} \left(\frac{1}{a!} \right) \right) + \left(A - \frac{1}{a!} \right) \right) \\ & = \int_{a}^{\infty} \left(\frac{1}{a!} \left(\frac{1}{a!} \left(\frac{1}{a!} \right) \right) + \left(A - \frac{1}{a!} \right) \right) \\ & = \int_{a}^{\infty} \left(\frac{1}{a!} \left(\frac{1}{a!} \left(\frac{1}{a!} \right) \right) + \left(A - \frac{1}{a!} \right) \right) \\ & = \int_{a}^{\infty} \left(\frac{1}{a!} \left(\frac{1}{a!} \left(\frac{1}{a!} \right) \right) + \left(A - \frac{1}{a!} \right) \right) \\ & = \int_{a}^{\infty} \left(\frac{1}{a!} \left(\frac{1}{a!} \left(\frac{1}{a!} \right) \right) + \left(A - \frac{1}{a!} \right) \right) \\ & = \int_{a}^{\infty} \left(\frac{1}{a!} \left(\frac{1}{a!} \left(\frac{1}{a!} \right) \right) + \left(A - \frac{1}{a!} \right) \right) \\ & = \int_{a}^{\infty} \left(\frac{1}{a!} \left(\frac{1}{a!} \left(\frac{1}{a!} \left(\frac{1}{a!} \right) \right) + \left(A - \frac{1}{a!} \left(\frac{1}{a!} \left(\frac{1}{a!} \left(\frac{1}{a!} \right) \right) \right) \right) \\ & = \int_{a}^{\infty} \left(\frac{1}{a!} \left(\frac{1}{a!}$$

 $= (\sqrt{3}, \sqrt{3})^{2} (1-2-8^{2}+28^{2}) - \sqrt{3}^{2} (1-2/8^{2}+1)^{4}$

 $= -\frac{1}{3} \left[(1 - \beta^2)^2 - (\sqrt{3} \cdot \sqrt{5})^2 (1 - \beta^2) \right]$

$$I = -\left(\frac{1}{8u^{4}}, \frac{1}{3}^{2} + \frac{1}{8u^{2}}(3, \frac{1}{3})^{2}\right)$$

$$\Rightarrow W^{2} = \sum_{n} S_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3}^{2} + \sum_{n} S_{n}^{2}(3, \frac{1}{3})^{2}\right)$$

$$= \sum_{n} V_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3}^{2} + \sum_{n} S_{n}^{2}(3, \frac{1}{3})^{2}\right)$$

$$= \sum_{n} V_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3u^{4}} + \sum_{n} S_{n}^{2}(3, \frac{1}{3u^{4}})^{2}\right)$$

$$= \sum_{n} V_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3u^{4}} + \sum_{n} S_{n}^{2}(1, \frac{1}{3u^{4}})^{2}\right)$$

$$= \sum_{n} V_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3u^{4}} + \sum_{n} S_{n}^{2}(1, \frac{1}{3u^{4}})^{2}\right)$$

$$= \sum_{n} V_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3u^{4}} + \sum_{n} S_{n}^{2}(1, \frac{1}{3u^{4}})^{2}\right)$$

$$= \sum_{n} V_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3u^{4}} + \sum_{n} S_{n}^{2}(1, \frac{1}{3u^{4}})^{2}\right)$$

$$= \sum_{n} V_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3u^{4}} + \sum_{n} S_{n}^{2}(1, \frac{1}{3u^{4}})^{2}\right)$$

$$= \sum_{n} V_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3u^{4}} + \sum_{n} S_{n}^{2}(1, \frac{1}{3u^{4}})^{2}\right)$$

$$= \sum_{n} V_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3u^{4}} + \sum_{n} S_{n}^{2}(1, \frac{1}{3u^{4}})^{2}\right)$$

$$= \sum_{n} V_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3u^{4}} + \sum_{n} S_{n}^{2}(1, \frac{1}{3u^{4}})^{2}\right)$$

$$= \sum_{n} V_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3u^{4}} + \sum_{n} S_{n}^{2}(1, \frac{1}{3u^{4}})^{2}\right)$$

$$= \sum_{n} V_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3u^{4}} + \sum_{n} S_{n}^{2}(1, \frac{1}{3u^{4}})^{2}\right)$$

$$= \sum_{n} V_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3u^{4}} + \sum_{n} S_{n}^{2}(1, \frac{1}{3u^{4}})^{2}\right)$$

$$= \sum_{n} V_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3u^{4}} + \sum_{n} S_{n}^{2}(1, \frac{1}{3u^{4}})^{2}\right)$$

$$= \sum_{n} V_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3u^{4}} + \sum_{n} S_{n}^{2}(1, \frac{1}{3u^{4}})^{2}\right)$$

$$= \sum_{n} V_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3u^{4}} + \sum_{n} S_{n}^{2}(1, \frac{1}{3u^{4}})^{2}\right)$$

$$= \sum_{n} V_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3u^{4}} + \sum_{n} S_{n}^{2}(1, \frac{1}{3u^{4}})^{2}\right)$$

$$= \sum_{n} V_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3u^{4}} + \sum_{n} S_{n}^{2}(1, \frac{1}{3u^{4}})^{2}\right)$$

$$= \sum_{n} V_{c}^{2}(-1) \frac{1}{3u^{4}} \left(\frac{1}{3u^{4}} + \sum_{n} S_{n}^{2}(1, \frac{1}{3u^{4}})^{2}\right)$$

.